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GENERAL INSTRUCTIONS FOR STUDENTS

You are given a Question Booklet as well
as an OMR (Optical Mark Recognition)
Answer Sheet. The Question Booklet
contains 30 questions serially numbered
from 1 to 30. Count the pages of the
Question Booklet and be sure that they
are in proper order. Mark the Subject
Code 065 in your OMR Answer Sheet.

Students are required to indicate their
answers at an appropriate place on the
OMR Answer Sheet. Darken only one
circle for each question as per
instructions given in the OMR Answer
Sheet. For each question, there are four
probable answers, out of which only one
is correct. The student is required to
select the correct answer and darken the
corresponding circle of the chosen
answer. '

Only Blue/Black Ballpoint Pen is to be
used to write on the OMR Answer Sheet.
Students should bring their own
Ballpoint Pen. Use of pencil is strictly
prohibited.



5.

All questions are compulsory. No choice
is given in any of the questions. Each

question carries 1 mark.

Overwriting, striking, cutting, applying
white/correction fluid and erasing on
the OMR Answer Sheet is not allowed,
Such answers will not be evaluated. Do
not make any stray mark on the OMR
Answer Sheet. No change in the
darkened circle is allowed once marked

in the OMR Answer Sheet.

Rough work must not be done on the
OMR Answer Sheet. Use the last page
of the Question Booklet for rough work.
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Which soil is considered the best for
farming ?

(A) Sandysoil (B)
© Loamy‘soil (D)

Clay soil
Acidic soil
Which layer of soil has the highest
amount of Humus ?

(A) Horizon A

(B) Horizon B

(C) Horizon C

(D) All of the above

Which bacteria is present inAroots of
leguminous plants ?

(A) Lactobacillus
(B) Rhizobium
(C) Micrococcus

(D) Bacillus
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10.

Which is an organic manure ?
(A) Urea

(B) D.A.P.

(C) Super Phosphate

(D) Farmyard Manure

Zinc phosphate fertilizer is given to
plants to fulfil the deﬁmency of which
element ?

(A) Nitrogen (B) Zinc

(C) Iron (D) Potash

What is the distance between the
rows of grape vines ?

(A) 3 x 3 meters

(B) 8 x 8 meters

(C)- 6 x 6 meters

(D) 10 x 10 meters

‘Sardar’ is an improved variety of
which fruit ?

(A) Guava . (B) Ber

(C) Grapes (D) Mango

What is the ripening time of Ber

~ (Jujube) fruit ?
(A) February — March

(B) June — July

* (C) September — October

(D) November — December

How many times in a year does the
guava plant bear fruit ?
(A) One (B) Two

(C) Three (D) Four

Fruit fly damages which fruit ?
(A) Ber (Jujube) (B) Potato
(C) Arum Root (D) Radish



11

12,

13.

14.

15.

065/PE

fraft : 11
WA fao
G3ues 378 wduz 9 9
(A) U
(B) €%
(C) nfz
(D) R
& feoft sws faoft 3 9
(A) 7t
(B) wdtes

(C) Tfgnrer
(D) 3% fiHdt

400 fa8 oft o1 § I9 §9 5 I3
9 S 83 IR T 2

(A) 5-10 fa&

(B) 10-15 fa&

Wy ¢

(C) 15-20 f&8

(D) 35-40 fa&

HS € g 3 ¥mie 9 9F ufis v
& ot afde 5 2

(A) g5t

(B) ualg

(C) =t

(D) &7

gt 995 B ugH € U2 9 "
3 < wgdt wiar fauzT Jor § 2

(A) fez

(B) " 3rder

(C) €=eF"

(D) Fve

11,

12,

13.

14.

15.

Unit: Il

‘White Revolution’ is associated with
the increase in production of

(A) Milk

(B) Wool

(C) Egg

(D) Meat

Which is the exotic breed of cow ?
(A) Jersey

(B) Sahiwal

(C) Haryana

(D) Red Sindhi

How much green fodder does a cow
weighing 400 kg require per day ?

(A) 5-10kg
(B) 10-15kg

() 15-20kg

(D) 35-40kg

What is the first milk after buffalo
calving called ?

(A) Colostrum
(B) Cheese
(C) Curd

(D) Khoya

Which is the most important organ in
the stomach of ruminant animals ?

(A) Heart
(B) Kidney
(C) Lung
(D) Rumen
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The chicken which is reared for meat
purpose is called :

(A)
(B)
(©)
(D)

Layer
Broiler
Pork
Mutton

In which direction should the poultry
house be directed ?

(A) North-South
(B) South-East
(C) Bast-West
(D) North-West

What percentage of the totalamount
is spent on poultry feed in poultry
farming ?

(A) 10-20%
(B) 20-30%
(C) 30-40%
(D) 60-70%

What colour eggs does the White
Leghorn hen lay ?

(A) White
(B) Black
(C) Red

(D) Gray

What is the rearing of chicks from
birth to 4-6 weeks of age called ?

(A) Hatching
(B) Brooding
(C)
(D) Debeaking

Grading
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Unit : I
On which plants did Mendel make his

discovery ?
(A) Mango
(B) Pea

(C) Cabbage
(D) Radish

In which form do cactus leaves

modify ?
(A) Spines
(B) Root
(C) Fruit
(D) Flower

Which is a monocot plant ?
(A) Wheat

(B) Peas

(C) Lentil

(D) Gram

Which is the female part of a
flower ? -

(A) Stamen

(B) Pistil

(C) Anther.

(D) Pollen grain

Which inflorescence is found in

mulberry ?
(A) Raceme
(B) Spike
(C) Catkin
(D) Spadix
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Unit: 1V

Which is a living thing ?
(A) Human

(B) Computer

(C) Motor cycle

(D) Chair

Which is a unicellular organism ?
(A) Monkey

(B) Protozoa

(C) Peacock

(D) Lion

Which is the hormone secreted by the
Pancreas ?

(A) Thyroxine
(B) Calmitonis
(C) Insulin

(D) Adrenaline

Who is the Father of Taxonomy ?

(A) Newton

(B) Alexander Graham Bell
(C) Albert Einstein

(D) Carolus Linnaeus

By which action can living organisms
produce young ones of their own
kind ?

(A) Reproduction
(B) Respiration

(C) Photosynthesis
(D) Movement



